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AT~ IV / PART - |V
SHIRITS / POLITICAL SCIENCE
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Di i ; . .
rection : Answer the following questions by selecting the most appropriate option.

91. : ¥ :
%TWGWW Egl Hlé‘l?rfw%imvn T 91. Which right is nof included in the
SR e T8 © Universal Declaration of Human
' Right ?
(1) qﬂq@amr{qlq”alqm%@ foren o &A@ (1) Right to get elementary
d education in mother tongue.
(2) TdH qﬁﬁﬂ B SNH HA AR (2) Everyone has the right to rest
fﬁr SR .%l and leisure.
BLAT 30 /Y WEHR F w1 A @ (3) Right to take part in the
STTEHIR o government of his country.
(4) ST ¥ 5 3 Rw o 29 A (4) Right to seek and to enjoy in
T AR IHH ST other countries asylum from
Hl I persecution. |
92. f=feifeg & PE-T7 GyaNE 92, Which of the following is not a

S S & foie e @
SRET GREEE & 9 § 80 ad
% oy S ERT T R

Q0]

constitutional provision ?

(1) Reservation of seats for the
Scheduled Castes and
Scheduled Tribes in the House
of the People will continue till
the expiration of a period of 80
years from the commencement
of the Constitution.

(2) The provision regarding
representation of  Anglo-
Indians by nomination in the
House of the People will
continue til -the expiraton of a
period of 70 years from the
commencement of the Constitution.

(38) Reservation of seats for the

3) o o W B fm TR Scheduled Castes  and
st oS STfedl 1 ST Scheduled Tribes in services
gfa= ;}E"W q 80 ad @ and posts will continue till the

“’?ﬁ expiration of a period of 80

arfer & <t S years from the commencement
WO of the Constitution.

ﬁm‘i‘f) . \’ﬂﬂﬂi%‘fl Reservation of seats for the

4 T - j:r S @ . ScheduIEZCastesandtheSchedLﬂed
oy ST ORI T 3 Trbes in the State Legislative
R @Ml & ST gfaem Assemblies shall continue until the
gy 9 80 qf @ e %l expiration of a period of 80 years
g ah renll gzr:su utk;ée commencement of the

on.

it
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(3) 9T AT e, T0_Tawdt 3 gaw

B B
‘i‘;%
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(3) & UREH & omaR X fved! @
freg @ 2= & @ A @

4) T 10 3 A FRedt & Hed
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Which one statement 1s nof true
regarding General Assembly of

United Natipns ?

() It is th:écj only UN body with
universalrepresentation.

(2) Each ygir, in September, the
full UN hembership meets in
Washington for the annual
General Assembly session.

(8) Decisions on important
questions, such as thpse on
peace and security, admission
of new  members and
budgetary matters, require a
two-thirds majority of the
Generai}&ssembly.

(4) The Geﬁ)érél Assembly, each

year, elects a GA President to
D

serve ‘é) one-year term of
office.
Disqualification on the basis

defection is not correct in the

context of the relevant provisions :

(1) All candidates elected on the
ticket of a political party,
nominated and independent
candidates come under the
purview of these provisions,

(2) Disqualification on ground of
defection apply in case of
split. :;\\J

(3) Disqualification on ground of
defectidg, not to apply in case
of merger.

(4) The decidion of the Chairman
or Speaker of the House, as the
case may be, on the question
of disqualification under
Schedule 10 shall be final.

‘I L]
?:1
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96.

Hieew ¥ R ww 3 R o B
e H i 78 ¥ 7
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(@)

(1) &= s & R ggrn

<
N\

(Z)Mﬂmgé;ﬁiﬁmml

B R v s agdl A
Rfffe el § g &9, A
IR @ F HEE B G
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N
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o
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Which of the following is not

included in the duty of the Union

fof Hindi language in the

Constitution of India ?

(1) To promote the spread of
Hindi language.

(2) To develop Hindi language.

(3) To secure its enrichment by
assimilating the forms style

and expressions used in

Hindustani and the other
languages specified in the
Eighth Schedule.

(4) To develop technical
terminology to facilitate the

global use of Hindi.

What is the multinational exercise
called to enhance anti-submarine
warfare tactics in Indo-pacific
region?

(1) Sea Roar

(2) Sea Dragon 3

(3) Sea Tsunami

(4) The hidden sea

Pe T, 0.
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91.

98.

A ST ZR] gAY T g g
P R AR o ol b
™

<

(1) I F B T w Re G
(W wi) B e am T
1l

(2) IR W F FfER  Taem
(FoeEd Afén) & gEerd @
Tt =81 e &

@) eﬂc@gﬂ e ¥  NOTA
e ] & &9 7 ‘@i

W%%?m’mmﬁw'

FH

(4) fofyr oM demdt e demed A
‘qE gam & HAEHR (W g
Refa) @ &1 & 981 7 8

O
(3) TEE TG G FOEA &R
e
(4) AT o A SR e AT
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Which one statement is not comrect

1 frme
regarding election reforms

recommended by Law Commussion 7
state

(1) System of complete

funding of elections 1is not
feasible.

(2) Commission does not

recommend the introduction of

compulsory voting in India.

(3) The Law Commission currently
rejects the extension of the
NOTA principle to introduce a
'right to reject’.

(4) The Law Commission 1is in
favour of introducing the 'right
to recall' in Panchayati Raj

Institutions.

In which of the following cases did
the Supreme Court in its judgment
allowed state government to sub
divide the reservation quota
meant for SCs and STs ?

(1) E. V. Chinnaiah case

(2) Indra Sawhney vs. Union of
India case

(3) State of Madras Vs.
Champakam Dorairajan case

(4) State of Punjab vs. Devinder
Singh case

A e
sk
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100.

TEE SR W & whw A
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37

) T I T A o o 7 @
WS W swER B ¥

(2) 1996 T ATH WA ThET
ot W o @ g T g
]

(3) TG 1970 F @Y g8 e

@n WE 1995 H TG G Al
2025 % @1 faqr m

o & HAEER stfEfm, 2005 &
gR1 8 § ‘GET & ST § g @l
g & B i 78§ 7

(1) g9, ARG A WHW R
sTEEd @ a8

(2) T STl R T RS
% PR &1 Jead 8
e

(3) dfeAe HTET o

W?ﬁfi’r
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statement of the
following is mot true regarding

-
nudlq"éar non-proliferation treaties ?

(l)ﬁdia has neither signed the
NPT nor the CTBT.

(2) The 1996 Comprehensive

Nuclear Test Ban Treaty has

yet to enter into force.

(3) (Fhe NPT entered into force in
(o))
aQ970.
™

(4)Pn 11 May 1995, the Treaty

8
was extended till 2025.

Whiéh one is not included in list of
'exemption from disclosure of
information' in section 8 of Right to
Information Act, 2005 ?

(1) Information, affect the

sovereignty and integrity of
(lhdia
(o)

(2)%formation that may cause a
<
breach of privilege of state

o
legislature

(3) Cabinet papers
(4) File noting

‘Il

a1 P.T.O.
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101. Fr=fofaa o @ f-m @um
& Wy e ¥ 7
OO @1 e 1967 3w

GO ERT &g ey

\)/Tﬂ@mrmwﬂ—méwqﬂ

SIRRIG]

AT zooewﬁ = qeq @

w97 =

@) wrd gl e adem @
qEIYs qe8 ol

(4) SNt & deas g FERRmE,
gﬁﬁm, foreidte, Rz, ards
&l

102. &H-4 g & fau fFafeas & avferor,
MR w e @ gl wRa &
ﬁaﬁaqamﬁmﬁ%aﬂ%?

(@)
(1) fagm gRwies
(2) ST
By TR g
(4) ToF G T

103. ged/MRAE/fEr ok SEd
AEH/IEEE & Td Gane &l

qea HY

(g /RdE / (et /

RER)ey STRCiTa)
mwﬁ?ﬁmg - Rl A
J/f?ﬂsﬁaﬁtﬁ‘ — T $if% T
g e O

(3) a1 gfteheaHT ~ 9V T
(4) 219 gLl — & A4
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Which of the following statement

regarding ASEAN is incorrect ?

(1) ASEAN was established by
Manila Declaration in 1967.

(2) East Asia Summit EAS was
established in 2005 as an
ASEAN initiative.

(3) India is the founding member
of East Asia Summuit.

(4) Founding Countries of ASEAN

are Indonesia, Malaysia,
Singapore and

Philippines,
Thailand.

For which post the power to
supervise, direct and control the
election is not vested in the
Election Commission of India ?

(1) Member of Legislative Council
(2) Vice President
(3) Member of

Corporation
(4) Member of Rajya Sabha

Municipal

Identify incorrect combination of
book/report/idea and its writer

/proposer.
(Bool/report/ (writer/
idea) proposer)

(1) Silent spring - Rachel Carson

(2) The Tragedy of - Club of Rome

the Commons
(3) Gaia Hypothesis - James Lovelock

(4) Deep ecology

- ARNE NaESS
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104. WEH
. ElIE J<h/AE H DT 104. Which one is not correct
SRIEE 7eT CE ? combination of writer and

N book/article ?
@)) Q’ﬂ"ﬁéﬁ %% @?ﬁ AF AfE e (1) Anarchy is what states make of
T I FITHRE HAB  Ufex it : the social construction of
Uiferfeay — @éﬁg‘{ ag_\-g power politics — Alexander
@AY W S B FET de M
HR 99 WO — d foisparex (2) Theory is always for some one
3) @g T X A FeeE Rl and for some  purpose
— Hqidq qEe — Andrew Linklater
4) T m AE e ifex difefeag (3) Why is there no international
B - T &{W theory — Martin Wight
(4) The tragedy of Great power
politics — John Mearsheimer
N * . .
105. YRd H I=9 IEE P gEy A 105. Which one is not correct
PIF-AT FIA Ha%_ g7 regarding High Courts in India ?
(1 G?cr' d g @ (1) Power to transfer judges of
[IEIGIEG] 23 I [ S A o High Courts lies in President.
3 U R (2) A citizen of India is eligible for

\(2)/*rﬁa N Pl3 ANMNE o TS the post of justice of High Court
& Iy d % B fU 9E g, if he/she is, in the opinion of
gl a8 Usgufd @ E 7 gfafed President, distinguished jurist.
faferasr & (38) There are 25 High Courts in

(3) ARG H 25 I=T AR ol India.

(4) YQF T WERE AR (4) Every high court shall be a
@ d B courts of record.

106. HRA IR AR & 7R ST 106. Four foundational agreements

a9Ed B __' between India and USA are :
I COMCASA® . COMCASA
-]
II. BECA ™ II. BECA S
qi 1
III. LEMOA © III. LEMOA
IV. GSOMIA IV. GSOMIA
= Tl @ ae q;,a[aq;m H What is the right chronological
w7 - order of these agreements ?
() MLV (@Y TV (1) NIV (2) IV-II-I-1
(3) IV (4) IV-II-I-11I (3) I-II-I-IV (4) IV-II-I-1I1

Jll
[ Level-3/5307 ] ‘“E
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107. Rsg &R de § ger Rl o
el e A ¥ 7
(1) \fmEr

(2) AT AR §REE
@)}

)
(3) AHR WL
(&) wEwTE T

fPeq gmuER @ “mem g} v
e B AeM TMadiaar’ & &g A
g fear B 7

(1) SSTH e

2) 3. . I}

By fafergm &, o). B

(4) B9 AN
frfoRaa & &
% R T8 ®
(1

108.

[Q\
F 109. %’«T—#ﬁ N CCIGLES]

fow W WrgEe 31 # SuEd
AT

(2) TEER N A R@ 9 R U
Jarelt @ duder A B 9] A
IUEY HAT

3 Srap Y ¥ Y G 3
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107. Which one is the main decision-
making body in the WTO ?

(1) Secretariat

(2) The Council
Goods

(3) General Council

for Trade In

(4) Ministerial Conference

108. Who defined Superpower as the

"great power plus great mobility

of power" ?

(1) Rudolf Jelen

(2) E.H. Carr

(8) William T. R. Fox
(4) Hans Morgenthau

Which of the following is not the
power of the State Legislature ?

109.

(1) To provide for grants-in-aid to
the Panchayats from the
Consolidated Fund the
State.

To make provisions for the
maintenance of accounts by
the Panchayats and the
auditing of such accounts.

To provide for the manner of
election of the Chairman of a
Panchayat at the intermediate
level or the district level.

To delegate powers and
responsibilities to Panchayats

to prepare plans for social
justice and

development.

of

(2)

©)

(4)

economic
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%ﬁwmeﬁiwwﬁm“ |
3 QUG %Wﬂ
:?ig??% EIE: i e R

f=ioied § @ @9-a1 99 QUAD

S IRA TR 78 R ?
(1) QUAD U&% SHIEilRE TMifas
HqY B

N
(2) QUAD #¥ ¥ IRJE i §
— IfR&, WRa, ol iR
ST -
(3)-QUAD Jarett HOSTEn  fIrEy
THEE 2025 § 9Ra-H @8

(4) QUAD & §&F e A aif ¥
— frm omaRd aRaw e,

(1) @4
O EUSEISIES

110.

111.
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Which one statement is not correct
regarding Kenneth Waltz and his
contribution as Neo Realist ?

(1) Waltz wrote 'Man, the State,
and War' : A Theoretical
Analysis in 1959.

(2) He wrote "Theory of
International Politics' in 1979.

(3) He argued that the first
concern of state is to maximise
power.

(4) He argues that bipolar system
are more peaceful than

multipolar system.

Which one statement is not correct

regarding QUAD ?

(1) The QUAD is an
strategic forum.

(2) The QUAD forum comprising
four nations — The USA, India,
Australia and Japan.

(83) The next QUAD leader's
summit will be held in India in
2025.

(4) Core objective of QUAD
includes — rule based global
order, freedom of navigation
and keep strategic sea routes
in Atlantic free of any military
influences.

informal

Prior to the creation of SCO (The
Shanghai Cooperation Organization)
in 2001, which among the
following were not the members
of Shanghai five ?

(1) China (2) Russia

(3) Tajikistan  (4) Uzbekistan

PR,
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113, ﬁgqaﬁgqﬁwqﬁqa%m%ﬁ
Eﬁmarmmqqajgzig?

(1) T 15 @@ ¥ o vdw wem
F U T Qe ¥

@) IH_at 3 weem 3 R
1oﬁtemﬂ%ﬁﬁTmrgmaaﬂm
R

(3) G IR & ©F Sremer o B,
S BT W8N Tead e

(4) IR B TEd, T g T @)
R & Foldl &1 g @
JTfvar B

i Wy § FagarfaE & aR
¥ HH-9 #9878 § ?

(1) ToEEaR ek ) fagda
el (SmEdieR frew) @ feran
g Sfisar &

2) T il d@ge @
AT ol @ qEeS
Tashiaar & oo & &7 & 3@a
gl

114.

113.

114.
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Which one statement is not trye
regardingfo\\’ Security Council of
United Nafigns ?

(1) It haszgs members and each
memb(e)r has one vote.

(2) The General Assembly elects
10 non-permanent members
for three year terms.

(3) The Security Council has a
Presidency, which rotates, and

changes, every month.
(o)

(4) Undezcrgw Charter, all member

Statesz%‘re obligated to comply
with Clolincil decisions.

Which one statement is not true
regarding Neorealism in
international politics ?

(1) Neorealism. generally
associated bipolar system with
stability.

(2) Neorealist see balance of
POWer as a consequence of the
structural dynamics of the
interné}honal System.

3) Accorﬁng to Neorealists there
IS  a¥ general bias in
internéiional System in favour
of balance rather than
imbalance,

(4) Neorealist asserts that states

are 'more concerned with
absolute gains.

-
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115. Which is not right combination of
theory and theorist ?

(1) Feminism — ]. Ann Tickner

(2) Constructivism — Alexander
Wendt

(3) Critical Theory — Robert Cox

(4) Post-colonialism — Andrew
b3 Linklater

L16. 116. Match the correct combination of

different variations of theory of

CRIEICTEE liberalism and their focus areas :
-1 gE-II List-I List-1T
(1) geITEE (@) CREEAREGI| (i) Sociological (@) International
SEECIE A A Liberalism institutions and
regimes
o g
(i1) S REGREG] g(b) -3 e & (ii) Interdependence (b) Transactions
RALCIC :r-) greanied &l ? Liberalism stimulate
: O cooperation
(iif) FeaTTd (c) !X RIERERE] (iii) Institutional (c) Liberal
RCALCIES {{ﬁ & Y qif Liberalism democracies
Y @B living in
g
peace with
each other
(iv) SGECICU CY YT 9T 4T, (iv) Republican (d) Cross- border
Jarde A W Liberalism flows,
2 common
(o))
(& values
™M
Pz < Codes

N
(1) i-(a) ii-(aflii-(c) iv-(b)
2) i-(c) ii-(b) iii-(a) iv-(d)

@y @) i-(®) iii-(a) iv-(2
(4) i-(d) ii-() iii-(b) iv-(3)

[Level-3 /5307 ] :'1 ;

(1) i-(a) ii-(d) iii-(c) iv-(b)
@) i-(c) ii-(b) iii-(a) iv-(d)
3) i-(d) ii-(b) iii-(a) iv-(c)

(4) i-(d) ii-(c) iii-(b) iv-(a)

P.T.O.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

[32/C]

247

‘II L}
o

@W@a_ﬁ%(m

118.

I TEem) § el A
a7 %7 )
(1)mm%m%§w%

YO & IR T e

(&)ATTE SRR B HERS S
(UDHR)

(3) MG X TeHIS FARHRT |
SRS TR (ICCPR)

(4) onids, @i g@m
AHRI W&

(ICESCR) =

TRUTHS & mauﬁﬁg% geg_#
Rrefad & & S-m ad B 7

(1) SREM & AqF1-9% TR

e B 733 G o,

1992 g1 qAfed far @

@) geX THE & % fae TR
qfe aitee’ & e @l 1A
2l

(3)/{Tmmammﬁawﬁ%m
gomra @ fa9w a@imaﬂ“‘a
r@%aﬁaﬁaﬁ%mﬁﬁfﬁﬁ
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Which one of the following is not
included in International Bill of
Rights ?

(1) The Convention on the
Elimination of All Forms of
Discrimination against Women

(2) Universal Declaration of
Human Rights (UDHR)

Covenant on
Rights

(3) International
Civil and Political
(ICCPR)

(4) International
Economic, Social and Cultural
Rights (ICESCR)

Covenant on

Which of the following is correct

regarding the provisions for

municipalities ?

(1) Part-IXA 'The Municipalities' of
the Constitution was inserted
by the 73rd Amendment Act of

the Constitution, 1992.

(2) There is a provision for the
formation of a 'Municipal
Council' for the larger urban

area.

(3) The Governor can provide for
the representation of persons
having special knowledge or
experience  of  municipal
administration in the
municipality. .

(4) The State Legislature may by
law provide for the manner of

election of the Chairman of a

municipality. "
A

>
120k
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119. -8 ASF )

(R &1 =
AR

JE 7

(e )

(1) SR TET  —

(2) NI HFRY — g

@) AR A — A

(4) SR =h

120. SfAUSE oG d d8q @ d@E

— AU

AR B9 B MiF & FBem F¢

TE-I
() &l 7o
T

(i) FEd ABH
B

(iii) FE qB™
J8d

(iv) At 7B
59

HE

TQEl-I1

(a) FIBREE! T

RO

(b) TEEAE M
IO SIerars!
(c) ggrdardl, IRaE
g A9 HRaTe)

(d) AT JeRard
g9 gaTedard)

(1) i-(a) ii-(c) iii-(d) iv-(b)
(2) i-(c) ii-(b) iii-(a) iv-(d)
(3) i-(a) ii-(c) iii-(d) iv-(b)
\(}/ i-(d) ii-(a) iii-(c) iv-(b)

[Level-3/5307 ]
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Which one is not correct

combination ?

(India's Rescue (Associated
N
QOVIission) country)
(l)gbpcration —  Kuwait
{
(gaahat
(2) Operation — Sudan
Kaveri
(3) Operation — Lebanon
Sukoon
(4) Operation = — Nepal
Nlaitri
(0))
Ma number of debate and
debate title in international politics :
O
@ist-l List-II
(i) First Great (a) Behaviouralist
debate vs. Traditionalist

(i) Second Great (b) Positivist vs. Post

Debate Positivist

(iii) Third Great (c) Realist, Liberals

Debate vs. neo Marxist

(iv) Fourth Great (d) Eutopian

ebate Liberalism vs.
(@) Realist
™M
Codes .
\o}

(1)W(a) ii-(c) iii-(d) iv-(b)
(2) i-(c) ii-(b) iii-(a) iv-(d)
(3) i-(a) ii-(c) iii-(d) iv-(b)
(4) i-(d) ii-(a) iii-(c) iv-(b)

?!:l'Ei P.T.O.
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Who classified political visionarie,

as 'epic theor(iﬁts' ?
N
)

(1) Wolin ™
<
(2) Leo Strauss
@)
(3) Hanna Ardent
(4) M. Oakeshott

Which one of the
statement is not true regarding

following

council of ministers and prov151on
related to this ?

(1) The totallumber of Ministers,
including=*he Prime Minister,
in the ©puncil of Ministers
shall n@ fifteen
percent of the total number of
members of the House of the
People.

(2) The Ministers shall hold office
during the pleasure of the

exceed

Prime Minister.
(83) The Council of Ministers shall

be collectively responsible tc
the House of the People.

(4) The prime minister shall be
appointe%d\by the president.

. O,
For the firstrtime the system o
bicameraliSr@"Dand direct elections
was introduckd in the country :

(1) Government of India Act — 1935
(2) Indian Council Act — 1909

(3) India Independence Act - 194
(4) Government of India Act - 19"
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Which principle was recognized in
America by the McCulloch vs
Maryland decision of 1819 ?

(1) The principle of implied
powers.

(2) The principle of checks and
balances.

(3) The principle of calculation
and discipline.

(4) The principle of supremacy of
the constitution and judicial
review.

Which of the following statements

are correct?

I. ].S. Mill proposed a system of

plural voting.

II. Thomas Paine insists that 'the

elected should never form to
themselves an interest

separate from the electors'.

III. The mendate model suggests
that only people who come
from a particular group and
have shared the experience of

the group, can idenfify with its

i}

interest.
(1) Onlyl
(2) OnlylandlIl
(3) OnlylandlIll
(4) Only III

R0
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126. Will Kymlicka identifies three

1217.

N

formg of group-differentiated

™

right%Which onie, ofithe: followirig
is not included in this ?

(1) Self-Government rights

(2) Special Representation rights

.('3-) P(()\Ly-ethnic rights
o

4) I\ﬁ'lority veto rights

<
m.
@)

"No citizen shall be rich enough to
buy another and none so poor as
to be forced to sell himself." This

statement written by :

(D ]gn Locke
()

o

2) J@ Rousseau
U‘

(3) John Rawls

(4) J.S. Mill
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128. RQWNW(A)@TW(R)

128. Which one of following true
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regarding given Assertion (A) and
N
Reason (R) 7 =
™M ;
Assertion (A)< Canada is a
N©J
L)asymme’tric federal
state.
Reason(R): Quebec, the French
speaking province,

enjoys less autonomy

5

relation to other

English speaking

C643092

provinces.

(1) Both Assertion (A) and Reason
(R) are true and Reason (R) is a
correct explanation of

___Assertion (A).

(2) Both Assertion (A) and Reason
(R) are true. but Reason (R) 1s

N
not a adrrect explanation of
o

Assertiogz (B).
O
(3) Assertion) (A) is true and
Reason (R) is false.
(4) Assertion (A) is false and

Reason (R) is true.

Pt a0,
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129. With reference to the US Senate,

130.

which statement regarding

Senatorial Courtesy is nof correct ?

(1) "Senatorial courtesy” 1s not a

formal rule of the Senate.

(2) It reierg’to a tacit agreement
among %nators not to vote for
any pregdential nominee who

is oppcgged by the senators

from the nominee's home

state.
(3) This is not related to federal
posts only.
N
(4) This p@notes the feeling of
collegi@y.
O

Which statewent is not true ?

(1) The classical political thought
is concerned with questions of
the good community, the
obligations of citizenship etc.

(2) Medieval political thought was
wrappe(QJ up with the
dominafice of Christian
theologiin intellectual life.

3) Politica@ theory upto and
including modern period has
been a textual tradition.

(4) Contemporary political theory
has been influenced by the
'foundationalist turn' in the
1970s.

XL
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According to Jenna Bender Indian
political sy§tém don't satisfy all
criteria of f%eralism as Union has
power to elfffinate regional units.
Which articleoof Indian constitution
provisioned(ﬂ)lis powef of union ?
(1) Article 3 (2) Article 356

(3) Article 358 (4) Article 312

The state shall make effective
provision within the limits of its
economic capacity and
developmerg This is provided for
the Directiv@ Principles of State
Policy mentigned in which article ?
(1) Article 4@
(2) Article 42
(3) Article 47
(4) Article 41

Which of the following statement is
not correct regarding
Parliamentary Committees ?

(1) The Public Accounts
Committee has 7 members
elected from the Rajya Sabha.

(2) The Chairman of the Public
Accountsy  Committee is
appo'in't%“ by the Speaker
from anf®hgst the members of
the com(%sittee from Lok Sabha.

(3) There i2n0 member of the
Rajya Sabha in the Estimates
Commiittee.

(4) The Chairman of the Estimates
Committee is elected by the
members of the Lok Sabha.

PoTacl


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

rdda 247

[40/C]

(o)

135.

A1

aa 3w & e orged |
0G0 G AR S T e M R L

(uaﬁﬁ‘rﬁﬂ A i
7 %

Wmﬁ%m%’n

@yas @ FW
frer — amgeRe 368

(3) A Tl HEAl B TG 3R
SuRed @ A9 3 ar @ &
R — orge8T 3852

(4) AR A B SuRed AR HA &

a B AN w agT — IR
108

43092

GIeEMACEIECRCIES :-Fr%@gm I

fremi & Wﬁﬁm'—r B qEEH

H

(1) . A%dle — ofgFd & TN
e Al (fe) B T

ST Bl o
(3) & IRE o ToFIR R &
3 o} & By & AW
FE § e oR LERER
%l e B A

(4) S Ueq — =g Froemr & &9
|

[ Level-3 /5307 ] "

GET IT ON
Google Play

134. The correct combination of the

135.

type of majority in the Parliament

and article

(phrase used)
provided in different articles of the

Constitution of India is not:

(1) Approved by resolutions of
both the Houses — Article 356

(2) Two-thirds of the total strength
of the House — Article 368

(38) Majority of the total strength of
the House and two-thirds of
those present and voting —

Article 352

(4) Majority of the total strength of
those present and voting in
both the Houses — Article 108

Identify the incorrect combination

of author/thinker ideas

advanced by him/her:

(1) M. Oakeshott — Identify four
principal modes of experience.

(2) Vogelin — Equates behaviouralist's
value
dogmatic

and

free approach with

atheism and
permissive egalitarianism.

(3) Hanna Ardent — A sense of
dignity and responsible

freedom in human action as

basis for revival of political

theory.

(4) John Rawls —
fairness.

justice as

i
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Which one is not in right
combination ?
(Regional (Country)
units)
(1) States — Australia and
USA
(2) Provinces — Belgium
(3) Lander — Germany and
Austria
(4) Cantons — Switzerland

Which of the following can not be
amended/alteration by a simple
majority of both the Houses of
Parliament ?

(1) Increase the area of any state
(2) Creation of new states

(3) Admission of new states

(4) Representation of states in
Parliament

Which one is not true regarding
Rousseau's ideas on equality ?
(1) Moral inequality is not natural

but the product of convention
and history.

(2) Inequality leads to the need
for coercive laws and non-
consensual government.

(38) Inequality causes destructive
and conflictual behaviour.

(4) Equality of outcome implies
that all runners finish the race
simultaneously, regardless of
starting point (Social Position)
and running speed (talents
and motivation).

P, 1O,
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Which is not the objective of

Article 39 of the Constitution of

India ?

(1) Protection of childhood and
youth against exploitation.

(2) Protection of childhood and
moral and

youth against
material abandonment.

(3) Protection of the tender age of
children from abuse.

(4) Protection of children from

having negative

effects on their health.

regarding

Michael Walzer's concept of

complex equality ?

(1) Walzer was agreed with Rawls
that basic goods are
universally conceived of and
given the same value.

(2) Different distribution standard
prevail in different spheres of
social life.

(8) Within each sphere, there
might well be inequalities.

(4) Complex equality 1is the
opposite of 'tyranny’.

Among following country which
has nof uncodified Constitutions ?

(1) Australia
(3) UK

(2) New Zealand
(4) Israel

In how many days is it necessary
for the President of America to
sign or veto the enrolled bill ?

(1) 28 days (2) 3 months

(3) 10 days (4) 14 days

”
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143. Which is not a feature of the
Directive Principles of State Policy
according to Article 37 of the
Constitution of India ?

(1) Obligation (\qf state to
incorporate th&se principles in
making policyg;

(2) Not enforceahié by any court.

(3) Principles ldid down are
fundamental in the
governance.

(4) Duty of state to apply these
principles in making laws.

144. Who was appointed as the Pro-tem
Speaker for 18th {9k Sabha by the
President Droupaf}i Murmu ?

(1) S.P.Singh Ba@e}

(2) Anwar Tariq © .
(8) Kodikunnil Suresh fag
(4) Bhartruhari Mahtab

145. Which one statement is not correct
regarding types of federalism ?

(1) Co_r_}g;uent federalism exist
when the territorial units of a
federal state share a similar
demographic makeup.

(2) USA and Brazil are examples
of congruent federalism.

(3) Incongruent federalism exists
when the demographic
makeup of th! territorial units
differs amonggt‘,he units and the
country as a whole.

(4) Switzerland E’cs) example of
incongruent federalism as its
territorial units differ from one
another along religious lines.

;;1'5 P.T.O.
E
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150. Which is not a convention in the

context of constitutional

development of Britain ?

(1) The King appoints as prime
minister that person who is
most likely to be able to
command the confidence of

the House of Commons.

(2) The House of Lords has not the
power of to reject money bills.

(3) Ministers are bound Dby

collective responsibility to

support government policy,

even if they privately disagree.
(4) Judges will not criticise
government policy and
ministers will not criticise
judges for their individual

decisions.

Ce43092
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